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सामाÛय Ǔनदȶश- (General Instructions)  

 परȣ¢ाथȸ यथा संभव अपने शÞदɉ मɅ उƣर दɅ। 
(Examinees are required to write answers in their own words as far as practicable.)  

 कुल Ĥæनɉ कȧ संÉया 19 है। 
(The total number of questions is 19) 

 Ĥæन सÉंया 1 से Ĥæन संÉया 7 तक अǓत लघूƣरȣय Ĥæन हɇ। इनमɅ से ͩकसी पाँच Ĥæनɉ के 
उƣर एक वाÈय मɅ दȣिजए। Ĥ×येक Ĥæन का मान 2 अकं Ǔनधा[ǐरत है। 
(Question no. 1 to Question no. 7 are very short answer type questions. Answer any 
five of these questions in one sentence. Each question carries 2 marks.) 

 Ĥæन सÉंया 8 से Ĥæन संÉया 14 तक लघूƣरȣय Ĥæन हɇ।इनमɅ से ͩकÛहȣ ं5 Ĥæनɉ के उƣर 
अͬधकतम 50 शÞदɉ मɅ दȣिजए। Ĥ×येक Ĥæन का मान 3 अंक Ǔनधा[ǐरत है। 
(Question no. 8 to Question no. 14 are short answer type questions. Answer any five 
of these questions in at most 50 words. Each question carries 3 marks.) 

 Ĥæन सÉंया 15 से Ĥæन 19 तक दȣघ[ उƣरȣय Ĥæन हɇ।इनमɅ से ͩकÛहȣं तीन Ĥæनɉ के उƣर 
अͬधकतम 100 शÞदɉ मɅ दȣिजए। Ĥ×येक Ĥæन का मान 5 अकं Ǔनधा[ǐरत है। 
(Question no. 15 to Question no. 19 are long answer type questions. Answer any 
Three of these questions in at most 100 words. Each question carries 5 marks.) 
 
 

                 अǓत लघु उƣरȣय Ĥæन (Very Short Answer Type Questions)             5*2=10 

1. ͪवपणन ͧमĮण के चार त×वɉ को ͧलखɅ।(Write the four elements of marketing mix.) 
2. राÏय आयोग ͩकतन ेǽपए तक के ͪववादɉ का समाधान करता है? (State commission redresses the 

grievances upto what amount?) 

3. Ĥेरणाओ ंके मÉुय Ĥकार कौन स ेहɇ? (What are the main types of incentives?) 
4. Ǔनयğंण ĤͩĐया का अǓंतम चरण Èया है? (What is the last step of controlling?) 

5. लेवͧलगं के अतंग[त दȣ जाने वालȣ ͩकÛहȣ दो सूचनाओं का उãलेख करɅ।(State any two 

information given in labelling.) 



6. ͩकस Ĥकार के संदेशवाहन मɅ अफवाह तथा गलतफहͧमयɉ कȧ सàभावना रहती है? (Rumours and 

distortions take place in which type of communication?) 
7. उपभोÈताओ ंके ͩकसी एक उƣरदाǓय×व का उãलेख करɅ।(State any one responsibility of 

consumers.) 
 

लघु उƣरȣय Ĥæन ( Short Answer Type Questions)               5*3=15 
8. उपभोÈता संर¢ण Èयɉ मह×वपूण[ है? (Why is consumer protection important?) 
9. एक उपभोÈता को 'सूचना ĤािÜत का अͬधकार' स ेÈया आशय है?( What is meant by "Right to be 

informed' to the consumer?) 
10. Ħांͫ डगं के लाभɉ कȧ चचा[ करɅ। (Discuss the advantages of branding.) 
11. Ǔनयोजन एवं Ǔनयğंण मɅ सबंंध èपçट कȧिजए। (Explain the relationship between planning and 

controlling.) 

12. पैकेिजंग के कायɟ को ͧलखɅ। (Write the functions of packaging.) 
13. संदेशवाहन से आप Èया समझते हɇ? Ĥबंध मɅ संदेशवाहन के ͩकÛहȣ दो मह×व को समझाइए।(What do 

you understand by communication? Explain any two importance of communication in 
management.) 

14. बजटȣय Ǔनयğंण के Èया लाभ हɇ? (What are the advantages of Budgetary Control?) 

 
         दȣघ[ उƣरȣय Ĥæन  (Long Answer Type Questions)                                     3*5=15       

15. माèलो कȧ आवæयकता-Ĥाथͧमकता ͪवचारधारा का सं¢ेप मɅ वण[न करɅ। (Explain briefly the Need 

Hierarchy theory of Maslow.) 
16. अनौपचाǐरक संदेशवाहन के लाभ एवं सीमाओं का सं¢ेप मɅ वण[न कȧिजए। Explain briefly the 

advantages and limitations of informal communication.) 

17. "एक संगठन मɅ पय[व¢ेक कȧ आवæयकता ǒबãकुल नहȣं है।" Èया आप सहमत हɇ? अपने उƣर के संबंध मɅ 
तक[  दȣिजए। ("A supervisor is not at all required in an organisation." Do you agree? Give 

reasons in support of your answer.) 
18. ͪवपणन के कायɟ को संͯ¢Üत वण[न करɅ । (Briefly explain the functions of marketing.) 
19. 'उपभोÈता संर¢ण अͬधǓनयम 1986' के अतंग[त उपभोÈताओं को कुछ अͬधकार Ǒदए गए हɇ। 

उपभोÈताओ ंके ͩकÛहȣं पांच अͬधकारɉ का संͯ¢Üत वण[न करɅ। (Some rights are given to the 

consumers under 'Consumer Protection Act 1986'. Explain any five rights of 
consumers.)  


